
Flavour tag inputs - 2+ vertices

• PT-corrected mass (MPT)

• Calculate vertex mass Mvtx and 

momentum p using tracks of decay 

chain before corrections, assigning 

pion masses to the tracks;

• p2 (1-cos2 !vtx) ! " Mvtx
2, where "=3 

is a user-defined parameter, !vtx is the 

angle between the seed vertex and the 

vertex momentum.

If condition fails, MPT = 0;

• Minimise vertex PT wrt vertex axis, 

seed vertex is recalculated.

(error matrix of vertex is used).

• MPT ! "corr Mvtx, "corr is a user-defined 

parameter.
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